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SECTION - A 10 = 2 = 20

VERY SHORT ANSWER TYPE QUESTIONS
Answer All questions. Each question carries 2 marks.

Find the inverse of the function £ R — (0, @) defined by f(x) = 5%,
I'ind the domain of the function V9 — x°.

—* —F —+ [
‘The position vectors of A and B are a, b respectively. If C is a point on the line AB

¥ —¥ —
such that AC = 5 4B, then find the position vector of C.

Find the vector equation of the straight line passing through the point (2, 3, 1) and
parallel to the vector (4, — 2, 3).

Find the area of the parallelogram having 2i — 3j and 3i — k as adjacent sides.
IfA+8+4+C=n/2, provethattan A tan B +tan Btan C | tan A tan C =1
Show that cos” 76° + cos® 16° — cos 76° cos 16° = 3/4.
Show that tank™' |:%:; —% log, 3.
If the angles of a triangle are in the ratio 1 : 5 : 6, {ind the ratio of its sides.
Show that the triangﬁ: formed with the points in the Argand plane represented by
24+ 20, =2 =2i — 283 +2v3/is an equilateral triangle.

SECTION-B 5 x 4 = 20
SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions, Each question carries 4 marks.

Determine whether the straight line passing through the points 2a+ 3b-eg,
Ta +4b — 2¢ and the straight liné passing through the points a-—2b + 3¢,
a — b + 6¢ intersect. I so, find the point of intersection.

Find the volume of the tetrahedron having the vertices (1. 2, 1), (3, 2, 5), (2,-1,0)
and (— 1,0, 1). :

For any o. € R, prove that CD_SE_ (o —45%) + cos® (o + 157 - tﬁ_b%z_-{m' - li“)._z

=
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Solve V3 cos 0 +sin 0 = V2,

7 3
Show that Z ¢’ sin (B — ) =0.

Show that cos 50 =cos’ 0 — 10 cos’ 8 .sin® 0 + S cos 0. sin® 0.

SECTION-C 5x 7 =235
LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 7 marks.
Iff: 4 — B be a bijective function, then prove that fo ' =l and /o f= i

Using the pranciples of Mathematical Induction, prove that
24324424 ... uptonterms=n2", ¥V n e N,

Show that cos ( 2 Jam™ ! l] = 510 (4 Tan ™! l}

L
By Vector method, prove that cos (o + ) = cos @ cos B — sin o sin .

If 4+ B+ C = 180° prove that
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In a AdBC show that bc+ca + . o
From a point on the slope of a hill, the angle of elevation of the top of the hill is
45°, After walking 200 meters from that point on a slope which makes 15° angle
with the horizontal, the same point on the top of the hill, makes an angle of

elevation of 60°. Show that the height of the hill is 100(N6 + v2) meters.

If » is a positive integer, prove that (1 +7)"+ (1 — 1)"= 2" Leos !;E



